


¥

%
i
4
z:

e

3
(
)

%
&
ks
L Z-s
X &
i
i



HERE: = B
HERit. BEF

(B4 SIEERE
ZHEEBEEY (—)

PRI GRS
U] A R A % AT BB S FUE BE

L

787 X 1092 F 3} 1/32 513,75 $ﬁ2_§}8:f-:?.
19884E | A%~ R 19884 1 A —k e B
EN¥. 1—26 000

T

#45. ISBN 7 —81017—056—2 /F+44

M. 3.2500



BN WS WL FEBEEE L) — (BEg) (H
ﬁa"pf~ FHLRA, 19884E ) B2 Wl BB SEH T HFEE
BRI E s, AT RS E RS &
-ffEI N DS A S e R I b o T BT SR TR A 0 R ]
T — B Z M, Aipeis T T, MREOHHL
R IV R AR T RO O T 0 0 A BT
BY, IRACERFATZTIAES Y b e R g e, T A RO RE g
ﬁ,u%M&AHLMWﬂL“%JO
ARV HE T O . B PR, BORHIEER PR B RS
PR B AT B I, ] JEeg I ER L R R B
.
i FRAVKFAER, Brh e A AP BNRE TR, O
JURIEF IR R, BN

o
19874F 9 H T 40



ﬁﬂ[{:,{:ﬁﬁ ]féiﬁg .................... (433)



1, KF5 A% B,

(1) {(x)=x%*4+x—-1 ,Skf(O),f(—l),f(é‘).

M ((0O=0"4+0—1=—1,
f(—1)=(—=1)*+(—-1)—1=—1;

Loty 1
(=) =1 =~

_ [1-=x 1 2

(2) f(x)=\[ 7=, K [, f(),[(=%.

. 11 -0 1 Vv 2
0 == = = .
B 0=, =Y

f1=1/2_ 1 __ /5

1 = —— == r——
(= Nitiz=vs™ 5

3, [ECHA)_ [8/5_ )8
£ 5) Vi2+(-3/5) .J7/5_1/1_7_

—2 )2
2y 7



| | 1
(3) fo=lgi T, & 1,131~

1 -0
4 f(0)=].g“1—*_+_6‘—=].g1—~0;

1—-/3 bt
(C3)=lg 7713 g™ lg 2
1—(—-;)
f—ty-1g — 2-=lg3
1 (=)

2 . TR T A AL

(1) f(x)=x+-2x*"13, R f(x)=1(—=%X).

EBR . f(—X)z(—X)““Z(-*X)Z-FS
—x4—2x*+ 3 ={(%),

oo f(x)=[(—%X),

(2) f(x)=tgX, IEHE f(x)=—1(—%).

G v (=% —tg(—x0)=—igx=—{(X),

o f(—x)=—f(x),
(3) f(xy=a%, EH {0 f()=Tx+Y);

f(x)_ .
f(y)—f_(x--y), ﬁ;riﬂ o<<a#'1

W T 00 - f(y)=ax-
f(}_i)-f(y):f(ery);

ay =axty={(xX+Y),

. {__E_?)j.:%;_—_ax—}’=f(3—y)-




S LCON
os f(y)““f(x“—Y)

(4) {(xX)=logax, W () +H{(y)=1f(xy);
f(x)——f(y)=f(j;-), 0<a#1

WHE Y fGO+HI(y)=1logax+logay=1logaxy
=f(xy),
S )+ {(y)y=1f(xy);
f(xX)—f(y)=logax—1log.y

X X
:loga'}‘; = (}*)’

—f(y)={f(" -~
f(x)y—f(y) (y).

3. "F??-'J'PH‘i}'f(x>—£jq3(X)_:}s%§%élﬁJ~ﬁ?lﬁ? it B H 3

H . |

(1) f(xX)=1n|x!, @(x)=Inx,
B N x>0, fflaix| =1Inx, HJ
f(x)=q(x);

2 xOWf, fGO=Inlx FEL, Me(x)=1nxE
HICRA, mFIO=1n'"x {5 LI R (—o0, 0)
(0, Feo)y MO =Inxflyg LA (0, +oo) gl
BB AL B B

(2) f(X)=x, @(x)=(/x )%

B OEO)ENEY ((—c0, +o0),
O(X)= (VX )2E K (0, +o0),

R, WEAMCER—EFS.



4. RTHRURE R,

(1) f(x)=x?—3x+1, |

M| Mxe(—oe, +oo)p, f(X)BMEEX, B,
SEXIH (—oo, +oo) MAREERIL I D= {x|-o0e
<xL o0}

—

(2 f(X)=v3<=2%,

B 3-2x>0, Bx<y, FLEXEN (-,

2y, BRMABRiZHD= (x| —o<x<y)

(3) f‘(x)_=iz'15.

M x*—5+40, Bix++v5, A, & XHN
(—o0, ~/ 50U (=v5, VBIU/5, +).

(4) {(xX)=%X*—5x+4 .

B x*—5x+420, B (x—1)(x—4)20,
B3 x<<1Hx>4., Hit, EXHA(—oe, 1] U (4,
+o0),

(58) f(xX)=1g(x*—-7x+6),

i x:—7x+ 6>0, Bl (x— 1 )(x—6)>0, W
Bx<1, ®x>6. HH, EXHHN(—oo, 1) U (6,
o0 ), - -




[x—. 1, X0
X , 0sx< 1
Z y  IKSXK 2,
R EXEH(—ee, 2), RIBFD= {x|—occ

<x< 2y |
5. FEUBEOR IR R Ry 008
(1) y=yx%,
B EBHE R (—co, +o0) . FERAUKKE
RER—gx, V¥ (—x)t =3/xt

f(--X): ('—X)-—‘;“‘(-—-X)3+(—-x)5
1 .
=— (X=X +xi) = ~f(x),

1
V=X—oX3+x5 R R,

-t

ax
(3) y=_x1, (0<as 1)

B OEBHE NN (—e0, 0) [J (0, +oo), i

5



Mg EEx,
a=*+1 i +a* al_’_‘+1

f(—-—X)*——é:';_*l: At TR
= —f(x),
‘ a* 41 .
oo Y= ox AR

(4) y=loga(x++/ 1+X%x%),
2 OmEEHE LN (=00, To0), £ BL— i x,
| f(—x)zloga(~x+J1+x2).

=10 (—x+/1+x%) (x+/ 1+% )
e X+ 14x?

1
B SAVAETS

— —loga (Xx+1+x%) =—f(x)
. y=1loga(x+v 1 +XI) AR,

6 . LR T 3 e J8 S X T ERO B B

(1) y=i(x)=3x—35, (—o0, +o0),

B Y x;, x,&(—o0, +oo) Hx,>x I,
FAEf(x,)=3%x,—5>3x1— 5 =1(x;), FrRAy=38x-5
By (R .

(2) y=x*—2x+3, (=00, 1), (1, +o0),

o f(x)=x—2x+3=(x-1)"+2,

Wy, x,6e(~o0, 1) HX,>x i, Hi(xy)<i(x)),

6



WA ( —oo, 1) I HAMBER (HE) .

Hx, x,60, +eo)Hx,>x A, Af(x,)>f(x1),
B f(x)7E (1, +eo) AGREEREE (™KK ).

(3) y=2*1 (0, +oco),

B X x,, x,€(0, +oo) Hx,>x,lif,

X,

2% s o ¥ T gy = 2 ¥ Tl (0, 400 ) HEE
WEARRR (U )

(4) Yy=-—1log:x, (0, -Foo),

B Y xi, x,E(0, +oo) Hx,>x B, K
logsx,>logax, .
R AT—logsx,<<—logsx,. Mly=—1log:x R W K
B EARIRD.

7. SRTAIERYNEBR (TR LR R .

(1) y=&2x—1

B iy y=&2x—1, 4 2x—1=Y35,

_ 1 ,
i .x=12"(1+y3), 14 Y:"i‘(l-l-x“).

( 2
Yy = X T
L2) YT gy
. . 2): - /[ 2.1:___ ,_y___ﬁ
B om Y=oy 1=y
y _ _ _x
Bl x=log,—_y . ¥ ¥=log: .



»-<3>y=1+1og%_<x+2)

| - { Y=
" Y=1+10g._i_(1+2), H x+2=(3) .

¥ —1 A
BB x=(~15) =2, ﬁty—--——(?) -2,

8, fEH T 5 BB BE.

(1) y=x?*—2x,

4 y_-—_x2—2x=
=(x—1)—1R—-%WY
£ TWaEGQ, —1), MK#Hm 0 -
dhx=1, (E1. 1) |

B1.1
2) y=|x|.
B x>0l y=x; |
x0F,y=—x, (H1.2) - Y v
. Bz-x - g-_—x
x?—1, x<0
(3) {
x+1, x=0. -—
() X
ﬂ XA A5 L




B XEE G 9 Ly= Y
=X2_" 1 (x<0 )) E

3 2 Y=x+
By = x+1(x>0) 4 e
. (K, 3) \

\ -
O . 7 i F I BRER o 2 N\ :
147 B B 2 L T R Y |
A1.3

(1) ¥=(2x—1i)3%,

M y=us, u=2x—1, Biy=(2x—1)“ufiARR
5 S R 3 TR ATTR.

E o XEIEm AR R, ERRERAAYSERY. B
FETRM, HIE AN aX -+ DY B AR AT hIA K A B B ( 5% KR
£, °~X+b,«1_lhmi‘é'ﬂmﬁia bii— B R AR BA,

B y=e" u=y/v, v=x-1, By Rufy 5 2 M

W, wRVEER, vEx—KEE, My=e¥ TT!
WAL o A Bre, vE AT ARR.

(3) ¥y=lgsin(x?—1),

B y=lgu, u=sinv, v=x?—1, Wk & vy=1g
sin(x?— REFufivE SR .

(4) y=5°05%

B y=5° u=v? v=cosx,

By Rufy RS, uRVIOERY, vEXE A ¥ & K,
v=smsxvuwk@ b EAE B, vEOTRA.



S (5)  y=(aresiny/I—x®yz , Ui

B y=u? u=arcsiny, v=4t, =i—x2,
My RufBEH, uBRvIIRICEKER, vELH B 8 &,

tRX KRB, MTIAN ¥ =(arcsinyg/ 1—x2 )2 Eif
SRR, v, tEHATRE.
10, AR, HERRANbI, ¥ﬁ'£i‘”‘mz&$%3a ,
TT, R ERAC(x)F R BB,
B a¥, pRs=lHgliAs+THmE,
LR, TR RaxT, ‘
kA C(x)=ax+b,
F AHEEAERBE VPR A (B SRA A ),

mu j&\] C(X)‘—a‘x—li—-*—-a_{_

- AREM—MEBA VAR LS, HRE K
%@ﬂsﬁﬂ*ﬁw@#érﬂﬁﬁﬁ
i u@ﬁ%ﬁﬁlﬁﬁ—#é%r,%%h,EIEIEE(%V:—-M%

S=2nr?+ 2arh, izl h-——&?“ Vo d S=2ﬂr2+-}"—,

0<r<{Hoo, | |

12, BUE—ARTHOKE, EHRSIREENS, IEE
KRR TERY 2 4, 035 v 50 A 0 AL e 0 R D R B i
BUBHTI1. 60, W R R R K

M WHRIE X, P R A E B e T,
MR E, REKN 2%, rmwzzxz VI8 T AR
¥ 6xt. REARTRENN 5a5. SREHNY, F £

10



y=1.ba(2x¢,4a(6xi)=9ax? 0 < x<+o0,
13, REZERAILon, TBie. R 2050 FEIK
55, R 2—euiFWRIE LM, oMLl EFRE 1A
g, AT AT Sk B ol BOF PRI,
B ORE Ay R, %k, MEESE
70.5, 0<{x<2

y=1 1, 2<x<6

1.5, 6 < X<10,
v
1.5!— ——————— —0
| F——-0
t)_S%—— s
v T T ¥ | S | gl S T

1.4

4, FEFALAE1000ME, e 413090, BB RTET000
AR E O 8, S E 000Dl R NERATE 1 9
T, REHELRAEN SRR EE.

W O HERNx, giERIA Y. 0
(130x, 0 <<xX<700;.
y =
191000-+0.9(130)(x—1790), 700< x<1000.

16, HEPFMmEFRBAXE, SEEM200G, YEFHE
500 G ABY, WD @FE, MapEPERids0040¢, L&

1]



HEXREXEBH200E, SAVE)&R20%, £ B
%, PERLEREET, ﬁ%iﬁ%%%ﬁ%kk@ﬁﬁ%
AR R,

B hEERR -
(200x, 0 <xXK500;

R(x)-_-zf_ 100000 + (200~—20) (X —500), 500< X< 700;
]\ 200(500-+200) — 200 X 20=136000, X>700,
EXBH (0, +oo),
16. FUAGBREN, WEHTIUHRE.

(1) 1im2TS.g.

n— 0o n

4 e>0, g BFS

- 3 <8’ %‘—ﬁs—<89

W e HEESEN=(T), % o>NA, #E

1
(2) lim=—=0
n—roo\/ﬂ

EW >0, =0 <o, H=<e,

12




